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GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING - SEMESTER- 5(NEW) EXAMINATION —-SUMMER-2020

Subject Code: 3351905
Subject Name: Estimating, Costing And Engineering Contracting
Time:02:30 PM to 05:00 PM

Instructions:

1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.

5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.
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Answer any seven out of ten. izl SIHUBRL Ald<ll syALoL ALl
State the quality of Estimator.

2ZlHz Lol ¥ RUAL

List factors which are affecting welding cost.

alEdol 5122 A 21U 5241l Uil [l 21€] opcldl,

List different elements of Cost.

5122 <l 6 £l 6f £l dedl SrRIAlL

Write merits and demerits of contract.

5AR “l SIAEL 2A AR S1AEL AU,

Explain in short the objectives of cost estimation.
5122 2122H210L L G2l 25 HL UHMAl

List the Elements of cost in arc welding.

vy dedlol Hizdl Wl 4L a2si duil.,

Define Forging and list the types of forging.
sl(sx0L <l Atz dHeAL U512 syRuAl.

Define Depreciation.
Sulatliua <l el il

Differentiate between costing and estimating.
51Z291 24 21ZIHZ[0L 422, <Al dlad, iU
State the conditions of contract.

5212 <Al 21241 QL.

Discuss the metal joints in brief.
Hed oyiiz 25 HL UHMAl
OR

Explain the need or importance of Break Even Point in Industry.

GEALOIHL 6ls DA U2 ll sy (41 24941 D12 AL AHMAL.

‘Breakeven analysis is a management tool’-Explain it.
05 St wAl[A R4 2L HASHZ 28 .- AU,

OR
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Explain various elements of cost in case of Gas welding.
A A[EL0L AL VA <AL 6¥2L 62l dedl UHMA.
A machine is purchased for Rs. 40,000 and its expected life is 16 years. Its
scrap value is Rs. 25,000. It 6% interest is charged on depreciation fund,
compare the depreciation rate by straight line & sinking fund method.
25 Helld 3. 40,000 HL wLledulL 204 89, dedl vie 24 GuAlil alds 16 A 9,
A<l 254 dey 3.25,000 €. dd 41§ UL 6 % ALy QAAUHL U Al 4]
A vt dslor g¢ <l <ldidl duIRIAl £ URuAl

OR
Market price of a pattern is Rs.300.Discount offered on market price is nil.
Material cost, Labor cost and overheads are in proportion of 1:2:3. If Labor
cost is Rs.60 per pattern then calculate the profit per pattern.

Yo Al oz [5Hd 3.300 9. oMz BHd uz (325182 91 uAHL 24
PR 5122, Aoz 512 Bl VUAREE 11213 ALUH BL HL .0 doR
5122 3.0 Udl Uzd Gl dl £5 U2d R Adl sl <l oAzl 53,

Define Net Weight, Shape Weight, Gross Weight, Tong loss.

QL. <2 492,204 492,14, 452,201 A, (1)

OR
Find out the Break-even point analytically(mathematically) from the
following data:
i) Total Sales = Rs.70,000
i) Variable cost = Rs.49,00,000
iii) Fixed cost = Rs.12,00,000
No. of components = 35,000.
LA dld 2l {12 sl [Q1dl Hi2 6ls Sad Uiz wiEl.
) 2124 4= Rs.20,000
i) ARzl (54d= Rs.¥t<,00,000
jii) (354 (54d= Rs.12,00,000
342 <l “vr1= 31,000

State the factor affecting Arc welding cost and explain.
215 A€ 5122 < 24U 5241 URANL sxRUAL A A UHMAL

OR
Explain various forging operations.
oyel -6yel 5U6¥0L BIURAUA HHMAL
How to calculate turning time in machining shop?
Hafldlow 2iu iz 2(o uua 54l <ld aell 5112

OR
Write the procedure of estimating cost of power plant by diesel generating set.
oA sxZl-0l U2 2121 AL Y1 Wiz <{l 5122 2021420 uslu quil.

Explain various accounting terminology.

[Afa8 25162101 23l il ABAl.
OR
A plate of 2m X Im is to be prepared from four pieces of 100 cm X 50 cm X
1 cm with the help of Arc-welding. Welding is to done on both sides.
Calculate welding cost using given data: (1) Welding speed=1 m/hr (2)
Labour cost — Rs.20 /hr (3) Electrode consumption — 2 m/m of weld (4)
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Electrode cost — Rs. 20/m(5) Power consumption — 1 kwh/m of weld (6)
Power charges —Rs. 7 /kWh

205 dlcdol l wee 42 100 WML X 50 Ml X 1AMl Al AR gsamiel
2 4L X1 Hl Al @z A4 AR samL a9, AlEdol thed blisy UR SRAUHIBUL
89, e 221 a4 daledan <l [sHd aiml (1) Aled 2w - 1 mihr.(2) 1ol wa
-Rs.20/ hr (3) 9ds52ls QUL —2 m/m 2is 4e8 (¥) 9as2ls [BHd - 3.
20/m.(4) uldz qu2 2 - 1 kwh/m 2115 des.(2) Uidz W - 3. 7 /kWh.
Explain following term : Security deposit , Deed
(A1 28 Auonal: sl (2uilerz, &g
OR
A square bar of 25mm sides is to be produced from a round bar of
25mm diameter and 500mm length. Considering only 5% scale loss, calculate
the length of square bar produced.
25 HlHL 14181 244 500 HIHL drordarst Gal ouzuiel 25 HlLHl.owsy
ALSL ALY OUR GleAlal HIZ 6L 25A Al 5% G4 Al AlRY 6lR Al d3oild
PECITN
State the cost elements of an ice plant.
UHU A2 Al W2 Y251 orBlLAl.

OR
List procedure for calculating material cost of a foundry shop product.
51G¢3l 2l <l Uiss2 HI2 H2[RAd 5lHA | oAzl izl uoLd1l dvil.,

A circular aluminum rod is to be reduced from diameter 50 mm to 40 mm for
a length of 90 mm, in two cuts. Assuming cutting speed as 20 m/min and feed
as 0.01 mm/rev. Estimate the time required for turning.
25 wsEr sl zis co Hldl avudHiz uo  HlHlEl vo
Hl Al ol () 52 galRl s2uML 204 9. 52l wils 2o4l/Mlaz wid sle
0.01 HLulAldleraqd 42l 2l vz aidl
A2 <{l a1v1dl 52,

OR
Estimate the time required to drill 4 holes of 1 cm diameter in a plate. Hole
depth is 2 cm, cutting speed is 15 m/min and feed is 0.01 cm/rev
25 1@z HL [zl 53] 4 Al ALz dler otdlad 9. sql sla <Al Gad 2 wal,
sl 2ils au Mz w4 gl oot Wl ddleuq Al Rdla
AHA LA,
A Diesel power plant has a capacity of 1800 kW. Its peak load and load
factors are 1700 kW and 85 % respectively. If capital cost of Rs. 900 / kW,
Interest on capital 10 %, operating cost / year Rs.60000, Fuel consumption
0.4 litre / kWh, Fuel cost Rs.40 / litre , then Estimate power generation cost
of this plant
s [3od WAz iz <l 5uAlZl 1coo (Bdl Az 9. wiz Al dls dls md dls
5522 widsH 1900 [aldlz wid cu% 8. oql silea siz2 3.c00/ bdidiz
, 5dlzd uz Al sy £2 10% , 2iuRlL 5122 uldds 3.20,000, A Al AUR

2 e o [azv/lal dlz sals, 2l [BHd 30 wo udl [azr ¢ia L,
UL L2 AL ULAR SyeRee Wizl WA <l 2Bzl 53,

Explain sales budget.
AL oi5y2 UHMA,

List various types of tenders and explain any one.
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282 <Al (A8 Us1lL <l 41E] otadl 515 wrL 245 axmMAl.

Write a short note on e-tendering.
€ —24219L uz 25l AiA quil

Write short note on (1) Tender form (2) Security bond.

(1) 2825 (2) Rz oties [N 25 Al dml.
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